C3-1 S Hamer s e (B

BRI A ?%FF‘FFIHIBIT%[ES«[HI 110 S5 4 ???ﬂﬁ*ﬁmfﬁ‘i
S 53] ‘*?”FE“E
ERk | - BB r O R A e A
p/E S| h SR RERH | TSR BRI T SR
i + B 5 5 5 5 5 5
b G 3 3 3 3 3 3
j3ie 4 4 4 4 4 4
F;Fl?f ’?jjﬁ[l
Pzl 3 3 3 3 3 3
A
FISRRIS 4%
il Hi~ 3 3 3 3 3 3
’ﬁﬁ g PISRR[S
o ?’ﬂ TR 3 3 3 3 3 3
| A
ks o ‘H@ 2 2 2 2 2 2
Ol 3 3 3 3 3 3
(HEACEE A (EURL
ARERT) ﬁ 3 3 3 3 3 3 3
|
ARG B, uiﬁ&*?mﬂ*’gnA 29 29 29 29 29 29
| AR /R JJE'E/%E‘EJMW 1 1 1 1 1 1
| 1% e Pﬂﬁ“’m’fﬁ%@ 1 1 1 1 1 1
T R
=8/ K
o | P 1 1 1 1 1 1
LS VT % AT () 3-6 3-6 3-6 3-6 3-6 3-6
O WIS Foea] 3 3 3 3 3 3
ﬂﬁ???;ﬁiéﬁgr ol AT | 32-35 | 32-35 | 32-35 | 32-35 | 32-35 | 32-35
(A+B) SHUSRAR | 32 32 32 32 32 32
'ﬁz} :
L. %?],E‘Eﬁf?,'?vﬁfﬁffj? il bl a%%fr:fﬁ«[%
2. I'J 110 #=F g E] [rﬂ&iqﬁf’iﬁfp LESEERFLIEE SRR UEJ*E ARl J el o
Ftlgrl %&é A EL N JuF 5B o




C3-1 5 Hafuesi ke (Bl Fip17)
S ] A BT R 1 109 SR T T 2R gaa*gm it

T %JIWWP&
R | R r O R A e AT
p/E a2 G G a2 G =G =2 G 2
ngﬁj, i[ﬁmgﬁ 5 5 5 5
b 3 3 3 3
B 4 4 4 4
ﬁfrﬁ il
Pzl 3 3 3 3
FISRES: 4%
i Edl 3 3 3 3
ﬁfﬁ g :ﬁ[?ﬁ
| H fpf?ﬁ%f*? 3 3 3 3
A FIFELS
Hi E;n( Hi 2 2 2 2
H i 3 3 3 3
e
(R (AU
T J’f 4 3 3 3 3
|
SRS FRAATENA) 29 29 29 29
i | AR RE/E JJE'E/%E‘E%JW 1 1 1 1
Al NES TJr[_,di*g[{y&”ﬁi‘i‘n%Q 1 1 1 1
=7 | B
F G H?m IR
| H :g{ ]ﬂjz?gj 1 1 1 1
A 3-6 3-6 3-6 3-6
AL Y P 28 A B
| S PR ? 4ATE(B) 3 3 3 3
aﬁ??ﬁﬁi%ﬁ@r oAl P AR 32-35 | 32-35 | 32-35 | 32-35
(A+B) S U ERATE 32 32 32 32

=
: G B o ) L
4 09 25 i E[ELIPI&@ F’j,j'}?‘:"y# gﬁwk‘;@[i’ﬁj%j‘tﬁ ”F”%? E‘Tg‘{rﬁgd °

1
109 250 H K u?F’};z



C3-1 5 Hafuesi ke (Bl Fip17)

“Ll}FB

g

J\:'zi;'f‘,:{:[-gﬁfi,

;H L'FF ’}Sz

Ejigxlgﬂ,umyqfﬁj" jﬁ% Fpd= SRFAFLH -

BRI P O R e 1 108 SR A f?? B el
e J D“ ?“WE“F&
e T A e SR A
/Rl SR | hERHR | RSREA | R SRAH | RERHA ) TN SR
Eﬁﬂ—\b zt[aszlz? 5 5
_HH\EIIZI 3 3
Ples 4 4
T;irrﬁ ?‘_FEU
Pzl 3 3
FISRRIS 4%
i ™ 3 3
ﬁfﬁ g PISRR[S
T B S
| H R e 3 3
AR FIFELS
ARSI EAEASIER" 5 5
Sl
;ﬂrﬁiﬁgﬂ Fr¥
H i 3 3
T
SRR HRHATE (A) 29 29
i | AR RE/E JJE'E/%E‘E%JW 1 1
| 1% ﬁp{ﬁ;ﬁ‘*‘“’ﬁ?ﬂ%@ 1 1
T R
| H PR 1 1
i 3-6 3-6
=g 458 A5 B
A | SRR IS AL (B) 3 3
S PEATR | RRE AR AR 32-35 | 32-35
(A+B) SR AR 32 32
=
ﬁ# ]
1. %
2.




